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KEY FOR CLASS : 10

Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions
02 Option (B) is the correct answer. The correct spelling is : Lambaste.
07 Option (B) is the correct answer. It is a noun as well as a verb, both meaning differently.
11 Option (A) is the correct answer. It is ‘Burble’ : ‘Bubble+Murmur’.
14 Option (C) is the correct answer. The syllables are : hy-per-bo-le.
15 Option (D) is the correct answer. The four additional/other words are : retrains, strainer, terrains, trainers.
23 Option (D) is the correct answer. When ‘neither’ . . . ‘nor’ is used, the subject closer to the verb (sisters)

determines the number of the verb. Hence, ‘are’.
25 Option (D) is the correct answer. ‘should’ is used to show what is, ‘right, appropriate, etc.’ for which

‘because . . .’ provides the reason.
27 Option (A) is the correct answer. The word ‘tempest’ is not a superlative degree. It is a noun meaning ‘a

violent storm’. Pronunciation of the first syllable of ‘tempest’, is as in ‘temple’, a consonant sound, so ‘a’.
‘Bay of Bengal’ being a specific bay and the only of its kind, ‘the’.

29 Option (D) is the correct answer. The first pair is of opposites and to make the second pair similar in
manner, only ‘provoke’ provides that (opposite).

31 Option (D) is the correct answer. As the reporting verb is in the future tense (will say), there is no change
of tense in the reported speech without the quotes.

33 Option (D) is the correct answer. It is not possible to have a passive form in the present perfect continuous
tense.

35 Option (D) is the correct answer. It is the only one that can be a past tense.
44 Option (B) is the correct answer. The two homonyms are : flight and plane.
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